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373640001 [EAR FIHNEEE EESETF1431-1 E3| AFKFIFEE 10.0 105.0 58.8 - i el R3.2.26
373640002 AR Sth FIHESE EEBT1574-1 E3| AFKFIFEE 4.9 35.0 2.0 - i el R3.2.26
373640003 IEHEE 3ith FIEHE SR ESET20-1 [ER=T:) EHEKFIMEE 10.0 45.0 4.5 - i el R3.2.26
373640004 HOBM FIHESE EEHT1861-1 [ER=T:) [=R=1:) 8.5 20.0 1.9 - i el R3.2.26
373640005 TR Kith FIHESE BEEBT2137-1 [ER=T:) [=R=1:) 5.2 43.0 4.0 - i el R3.2.26
373640006 IEHEE 45t FIHE SR ESET28-1 [ER=T:) EHEKFIMEE 3.0 31.0 0.8 - i el R3.2.26
373640007 E Rt Kith FIEHE SR ESB7225-1 [ER=T:) EHEKFIMEE 4.5 81.0 9.9 - i el R3.2.26
373640008 E—5ith FIHESE EESHT1296-1 E3| AFKFIFEE 6.0 50.0 9.8 - i el R3.2.26
373640010 FHT 2 Eith FIHE SR ESHT1828 E3| [EA=T:) 3.5 31.0 3.0 - = el R3.2.26
373640011 HEATH FIEESET 1918-1 [ER=T:) [=R=1:) 2.1 10.0 0.1 - = =
373640012 MER ISt FIHESE EEBT2771-1 BARA BAA 3.4 35.0 0.3 =) R1.10. 31 i =
373640013 KEB15H FIEE SHT 2943-1 [ER=T:) [=R=1:) 2.7 38.0 0.2 - = =
373640014 KiE# 45t FIEE SET 2949-1 [ER=T:) [=R=1:) 2.1 36.0 0.5 - = =
373640016 TEDBEE 3ith FIEHE SR EEBT415-1 [ER=T:) EHEKFIMEE 3.0 49.0 2.1 - i el R3.2.26
373640017 #MFEFR FIEHEEE EEBT653 [ER=T:) AFKFIHEE 8.5 36.0 4.7 - i el R3.2.26
373640018 ¥/ mKith FIEHESE ESH71859-1 [ER=T:) [=R=1:) 4.8 66.0 5.2 - i el R3.2.26
373640019 INF LR FIHESE EEBT1877-1 [ER=T:) [=R=1:) 5.3 44.0 1.3 - i el R3.2.26
373640020 BHE FIEHESE EE/12035-1 [ER=T:) [=R=1:) 3.3 32.0 0.7 - i Eol R3. 2. 26
373640021 BARE25M FIHESE BEEBT1572-1 BARA AFKFIHEE - - 5.0 =) R3.3.5 =] R2.8. 31 =] R3. 2. 26
373640022 [+ / #Kth £ T FIEHE SR EESH13662-7, 3663-2 [ER=T:) [=R=1:) - - 1.0 - = Eol R3. 2. 26
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373640023 | /hMF LT EIIER [ER=T:) - - i R3.2.26
373640024 EREI M EIIER [ER=T:) 25.0 - i =
373640025 EiEih EIIER [ER=T:) 41.0 - i =
373640027 MER 25t EIIER [ER=T:) 30.0 - i =
373640028 FE 65t EIIER [ER=T:) 39.0 - i =
373640029 IEHEE 1t EIIER BARA 31.0 5 = =
373640030 ERHE 1 EIIER [ER=T:) 9.0 - i =
373640031 ERhE 2 EIIER [ER=T:) 14.0 - i =
373640032 ERMhE 4 EIIER [ER=T:) 10.0 - i =
373640033 ERESH EIIER BARA 9.0 5 = =
373640034 ERthE 6 EIIER BARA 25.0 5 = =
373640035 TEDBEE 1ith EIIER [ER=T:) 43.0 - i =
373640036 IEDBRE 2t EIIER [ER=T:) 23.0 - i =
373640037 IEDBRE 4ith EIIER [ER=T:) 18.0 - i =
373640038 BE 15t EIIER [ER=T:) 7.0 - i =
373640039 BE 25t EIIER [ER=T:) 14.0 - i =
373640040 IEE Kith EIIER [ER=T:) 40.0 - i =
373640042 #MFEFNi EIIER [ER=T:) 12.0 - i =
373640043 fEIl 1St EIIER 12.0 5 = =
373640044 fEl 25t EIIER 10.0 - i =
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373640045 B EIIER [ER=T:) 18.0 - i =
373640047 B4 5ith EIIER [ER=T:) 10.0 - i =
373640048 B 55t EIIER [ER=T:) 16.0 - i =
373640049 BE25t EIIER [ER=T:) 9.0 - i =
373640050 BEEM A EIIER [ER=T:) 12.0 - i =
373640051 TAR15HM EIIER [ER=T:) 11.0 - i =
373640052 YR25 EIIER [ER=T:) 14.0 - i =
373640053 BHmE&gith EIIER [ER=T:) 10.0 - i =
373640055 HBF 1St EIIER [ER=T:) 20.0 - i =
373640056 | #FHEE Y Kith EIIER [ER=T:) 14.0 - i =
373640058 MEHR1 5 EIIER [ER=T:) 15.0 - i =
373640059 FE 15t EFIEB [ER=T:) [EA=T:) 15.0 - i =
373640060 mE 25t EFIEB [ER=T:) [EA=T:) 15.0 - i =
373640061 FE 35t EFIEB [ER=T:) [EA=T:) 20.0 - i =
373640062 FE 45t EFIEB [ER=T:) [EA=T:) 25.0 - i =
373640063 FE 55t EFIEB [ER=T:) [EA=T:) 21.0 - i =
373640064 g7 5t EIIER 18.0 5 = =
373640065 FE8Eith EEB [ER=T:) B 38.0 - i =
373640066 INC =] EEB [ER=T:) [EA=T) 16.0 - i =
373640067 A 2 Eith EEB [ER=T:) [EA=T) 16.0 - i =
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373640068 NG ECR=3i1] EFIEB [ER=T:) [EA=T:) 24.0 - i =
373640069 KEH251 EFIEB [ER=T:) [EA=T:) 36.0 - i =
373640070 KEHEI S EFIEB [ER=T:) [EA=T:) 26.0 - i =
373640071 KEHES St EFIEB [ER=T:) [EA=T:) 12.0 - i =
373640072 KiEHG6 S EFIEB [ER=T:) [EA=T:) 40.0 - i =
373640073 KEB7 St EFIEB [ER=T:) [EA=T:) 23.0 - i =
373640074 KEEHESFith EFIEB [ER=T:) [EA=T:) 18.0 - i =
373640075 KEHOSM EFIEB [ER=T:) [EA=T:) 16.0 - i =
373640076 FrE15H EFIEB BARA BAA 7.0 5 = =
373640078 FrE3FM EFIEB BARA BAA 14.0 5 = =
373640079 BE 15t EFIEB [ER=T:) [EA=T:) 21.0 - i =
373640080 BE25t EFIEB [ER=T:) [EA=T:) 14.0 - i =
373640081 BE35t EFIEB [ER=T:) [EA=T:) 16.0 - i =
373640082 B 1S EFIEB [ER=T:) [EA=T:) 21.0 - i =
373640083 B 25 EFIEB [ER=T:) [EA=T:) 18.0 - i =
373640084 B35 EFIEB [ER=T:) [EA=T:) 27.0 - i =
373640085 B4 EFIEB [ER=T:) [EA=T:) 14.0 - i =
373640086 B 5 St EEB [ER=T:) [EA=T) 15.0 - i =
373640087 B 6t EEB [ER=T:) [EA=T) 21.0 - i =
373640088 HEH EEB [ER=T:) [EA=T) 22.0 - i =




